C SLS SEMICONDUCTOR (SHENZHEN) CO.,LTD.

SOT-23 B3k B4k Bi4A £ /SOT-23 Plastic-Encapsulate Transistors

EDE/Marking : 2D

MMBTA92( PNP )

4% /Features : SOT-23 3
HEFBES ;
Hi&/Applications : . BasE
BFEESERK , 5 MMBTA42 B4h, e
tRPR2&L/Absolute maximum ratings(Ta=25°C)
Z¥/Parameter 55/ Symbol Hl /Value EA7/Unit
£ HL M -FEA HI IS /Col lector-Base Voltage Vero -300 v
B B - RS LR /Collector-Emitter Voltage Vero =300 v
REF W FEA FEE /Emi t ter—Base Voltage Vigo -5 \
#E HL RS HLIAL/Col lector Current Continuous I, -0.3 A
HE BN FERLTh % /Collector Power Dissipation P. 0. 35 W
#PH/ Thermal Resistance Junction to Ambient R 410 C/mW
258/ Junction Temperature Tj 150 T
f#17IR /Storage Temperature Tstg ~55~150 C
EEgE=%1/Electrical characteristics (Ta=25°C)
24 (s A A wAME | NE | AL
S Rl o % L Virccso I=—100 1 A, I,=0 -300 v
AR FMNG— R S A 2 L e Vercro) I=—1mA, I,=0 -300 \
KPR HE M 7 7 FLUE Vereso) I=-100 n A, I=0 -5 \
S LA LR Lo Ve=—200V, 1,20 ~0.25 | A
R SRR FL Tino V=5V, 1=0 0.1 | nA
JER N ke hre ) Ve=—10V, I=—1mA 60
EL LY 25 hes Ve=—10V, I=—10mA 100 | 200
EL LY 25 hes Ve=—10V, I.=—30mA 60
R PN — R ST AR LR s [ Ver(san [=—20mA, I;=—2mA -0. 2 \
M~ S R LA I Vi tean 1=—20mA, I,=—2mA -0.9 | V
RIS £ | V=20V, I=-10mA, f=30MHz | 50 MHz
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SLS SEMICONDUCTOR (SHENZHEN) CO.,LTD.

SOT-23 #} 3k 2 Bk Fifk /SO T-23 Plastic-Encapsulate Transistors

LR g4 i 28 8/ Typical Characteristics
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